COMPLEX ANALYSIS



Any questions or concerns? Anything unclear?






A8: Plot complex numbers in the plane (rectangular and polar
forms), and the sum and product of complex numbers in the
plane






It is covered by Problem 1 of HW 2 (plot sums, differences,
and products of numbers in polar or rectangular forms).



QUESTIONS ON OBJECTIVE A}

A9: Sketch sets and parametr1c curves in the complex plane;
M —
recognize simple closed contours .
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It is covered by Problem 2 of HW 2 (sketch sets and contours
in the complex plane).
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AlO: parametrize contours ﬂlo' GO.WV\ a:'
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Most likely contours we will parametrize:

> circles of all radii and centers,

> 1lines and rectangles, .h W\ﬂ"h'. .,Q_('he iS qlwajf
> graphs of simple functions. GSWNS\'\"' “m

not afme

=K 4=6in .
“‘-‘—'ﬁ? 3;;' e’ /“\"‘y (\/)—-‘






 LeWn RO KW |
The'circle with radius r and center 2 is parametrlzed by/

—

¥(t) =2 @ 0:< <20
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T(X)=2t Te
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m Alternatively: (t) = 2o + re®f  Qecipai]

s What about only part of the circle? (top half, left half,

etc.) ¢_°£t£“

m What about going clockwise?
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1=\ m Line from 2 to 2;:

Xl\ Y(it) =201 —t)+ z1it =20+ t(21 —20), 0<t<1

20 t-0

m Line starting at 2y of slope m:

Y(t) =2 +t(1+im), 0<t

m Ray emanating from 2z, at angle ¢ from real axis:

v(t) = 20 + te'®, 0<t.










GRAPHS OF SIMPLE FUNCTIONS

Parametrize the contour given by the curve y = 2%, -1 < z < 1.
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[HAT"S ALL FOR TODAY!



